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1. BRERER




DIP NS-E ¢ 100

HHEER ()

2IX = g
IfE|3—K #oH g L By # = |
TR | ZER| TR | ETER|TEAN|EFR|ZTFEN|ETFR| TEAT | FEH
DIP(NS-E)E & @ 100(#HAZ L) 1L=5.00m & 1 1
ZETFE NS-E ¢ 100 X ¢ 10044 %) i 1 1
MZAEE NS-E ¢ 100 X ¢ T5(3p kL) i 1 1
B & NS-E ¢ 100 X 22°1 /204 A F %) i 2 2
N-Link NS—E ¢ 100 4 2 2
N-Link NS—E 75 # 1 1
547+ NS-E ¢ 100 #H 1 1
EREMRFHM NS-E ¢ 100 #8 3 3
vecoaqvk (BfERRIA L £ B 14F) $ 100 r 1 1
# g RT—7 W=150 m 3.209 3.209
ERHRT—T W=50 m 3.209 3.209

#




HPPE ¢ 100 MHEHEBEX Q2
2IX = g
IfE|3—K o H A T #% By % = |
TR | ZER| TR | ETER|TEAN|EFR|ZTFEN|ETFR| TEAT | FEH

EFAZEE ¢ 100 L=5.00m X 1 1
B ERERBT KXPEM. ¢ 100 va 1 1
PVZaA bk ¢ 100 i 1 1
BEERT—T W=150 m 1.890 1.890
ERART—T W=50 m 1.890 1.890

#

#




HPPE ¢ 75 MHEBEX @G
2T & H
IfE [a—F o H A T #% BT # g 5
TR | ZER| TR | ETER|TEAN|EFR|ZTFEN|ETFR| TEAT | FEH
EFAZEE ¢ 75 L=5.00m & 44 44
EFAZF—X 915%x ¢75 i 4 4
EFfZF—X @ 75% ¢ 50 s 1 1
FREFF—X SUSHI7VY (GFRY). ¢T5% 975 | 1 1
EFV7 vk ¢ 75 H 4 4
EFMZAUE ¢ 75%90° 7 2 2
EFESZAUR ¢ 75 x 45° A 3 3
EFEZAUF $15%221/2° i 2 2
EFfZAUKR d75% 11 1/4° i 1 1
# EFERZAUR ¢ 75 x 90° s 2 2
EFAZARUF @75 % 45° T 1 1
EFEZAUF $15%221/2° i 3 3
EFFSZAUR d75% 11 1/4° i 1 1
SHHRERERIMT KXPEM. ¢75 7 1 1
PVZaAbk ¢ 75 A 3 3
FAtE HPPEM. ¢ 75 A 2 2
PEfELOfY IR —ILIEEISHE  [$75 E 2 2
PEAZYVIb—ILEEIF 975 #® 4 4
TUHE 2= i 6 6
fUIFARYIR FHEE > Y H=50mm A 4 4
fUIFARYIR L #BBE H=150mm i 2 2
# fUIFARYIR i EBEE H=300mm A 2 2
fUIFARYIR T BB H=300mm A 2 2
fuHARYIR £ T BB H=300mm r 4 4
fOHARYIR [EAR H=40mm A 6 6
BEERT -7 W=150 m | 222.130 222.130
ERRT—F W=50 m | 226.666 226.666




HPPE ¢ 50 MHEHEEXR W
2T & 5
IfE [a—F o H A T #% BT # g 15
TR | ZER| TR | ETER|TEAN|EFR|ZTFEN|ETFR| TEAT | FEH
EFAZEE ¢ 50 L=5.00m x 3 3
EFf2F—X $50% ¢ 50 T 1 1
EFARZARUR ¢ 50 x 90° 7 1 1
PVZaqd b ¢ 50 i 1 1
Pl HPPER., ¢50 i 1 1
PEAZYVIL—IILEEIFH $50 #® 2 2
TUHE - 7 2 2
TEOFARYIR SR%EY >4 H=50mm T 2 2
HUIFARYIR £ F#BBE H=300mm i 2 2
# fUIFARYIR JERR H=40mm A 2 2
BEERT—F W=150 m | 11510 11510

#




HPPE ¢ 75 HXiE

HHEER G

2IR & 5
IfE|3—K #oH g L By # = |
TR | ZER| TR | ETER|TEAN|EFR|ZTFEN|ETFR| TEAT | FEH
e H=100 FCD #{& ¢ 75 H 1 1
T HH KA RS TR GEEFR) H® 1 1
ISV BFM(GFRA) 1.5K$ 75 # 2 2
HREE £%2 H=100mm A 1 1
HREBARYIR L &R B H=200mm i 1 1
HXEARYIR TEBEE H=300mm r 1 1
HREBARYIR JERR H=40mm A 1 1
#

#




RRE L E X ®6)

2T X & B
IfE|3—K #oH g L By # =
TR | ZER| TR | ETER|TEAN|EFR|ZTFEN|ETFR| TEAT | FEH
RUBCCEE) ¢ 50(8E) m | 72190 72.190
EITFESEARSEAT) VPH ¢50 x50 r 1 1
HEILSKEE VPA ¢ 100 X 50 T 2 2
YRS KEE VPA ¢75x50 i 7 7
PP LKAV TV 950 i 9 9
P.PF—X ¢ 50 X 50 i 5 5
P.PT)LR ¢ 50 A 44 24
PPARIAFY vk $50 A 28 28
BEERANIE 975 i 3 3
M BEERANIE $50 A 1 1
YEILFryT @50 i 9 9
7355 ¢ 50 A 1 1
=k LT ¢ 50 = 15 15
HUI£E NIVIRYYR D125 A 9 9
VPEHI7 —/ vy ¢ 100 H® 1 1
VPRAIZ —/\vY 75 H 3 3
VPRIZ —/\vY ¢ 50 H 1 1
YRS KR VPF ¢ 100 x 40 i 1 1
YRI5 KEE VPR ¢75x40 i 3 3
HEILSHKEE VPA ¢50x25 i 1 1
#




HHEER Q)

PP $20 #KE
HKE =) &
IfE [a—F o H A T #% BT % = |
TR | ZER| TR | ETER|TEAN|EFR|ZTFEN|ETFR| TEAT | FEH
RUBCCEE) ¢ 20 H) m | 133.990 133.990
YRS KEE HPPER ¢ 75 x 20 (EA12) i 12 12
SibKERYV v ¢ 20 i 12 12
PPF—X $20% ¢20 A 1 1
P.PIJLR $20 i 5 5
A—=B—AL G AR $20% ¢13%60° A 13 13
BEERT—T W=150 m | 133.990 133.990
#

#




DIP NS-E ¢ 100 HI#EERU)
2T = it
IfE|a—F # M B * Bifiy % 2
R | R | TR | E R | TR EF R TR EER| TR EE
BKERTIER ¢ 100 m 3.209 3.209
SEERE mIAAIER T ¢ 100 m 3.209 3.209
NS-E#FEET $100 (EE) A 1 1
NS-ER#FEET 100 (N-Link) m| 2 2
NS-E#FEET @75 (N-Link) 0 1 1
NS-ER#FEET $100 (ERE) O 3 3
HEE M T ¢ 100 m] 2 2
i EEEYMT ¢ 100(BES) 0 1 1
BEERT—JT W=150 m 3.209 3.209
RYIFLVRY—THETLT $100 m 3.209 3.209
ERRET—IT W=50 m 3.209 3.209




HPPE ¢ 100 T #E R (2

2T = it
IfE|a—F # M B L BT % 2
R | R | TR | E R | TR EF R TR EER| TR EE

BKERTIER ¢ 100 m 1.890 1.890

RUEHHTLT ¢ 100 (EF{EA) m 1.890 1.890

RUEMFT ¢ 100(EF#E&)10 el 1 1

RYEAA= A MFEST ¢ 100 m] 2 2

RUEMT ¢ 100 m] 1 1

EEEYMT & 100(BE % O 1 1

BEERT—JT W=150 m 1.890 1.890

i ERRT—F W=50 m | 1.890 1.890

O —FAL T T4 —FEET m 1.890 1.890




HPPE ¢ 75 T #FEE (3)
2T a &
IfE|a—F # M B L BT % 2
ERH | E R ERR | E R R TR EF R\ TR ERR|EER|EER
EKEHREIER 075 m | 226.666 226.666
RYEHBLT ¢ 75(d=0.80m) 222.130 222.130
RUEMFT o 75(EFHES) 20 i 10 10
RUSHFET @ 75(EFES) 10 O 71 7
R)EAD=HIBFEEST @75 =] 8 8
RYEMT @75 m] 25 25
HUHHET @75 TER 6 6
i LR RESRET ¢ 75(d=0.80m) aii 6 6
fUIHRYIREET SREE) >4 H=50mm el 4 4
HOHFRVIREFET LEBEE H=150mm aiil 2 2
fUIHRYIREET pEfEE H=300mm el 2 2
HOHFRVIRBFET TE8E H=300mm aiil 2 2
fUIHRYIREET L F#BEE H=300mm el 4 4
HOHFRVIRBFET /R H=40mm aiil 6 6
BEERT—JT W=150 m | 222.130 222.130
ERRT— W=50 m | 226.666 226.666
O —FA T IA Y —FhExT m | 226.666 226.666




HPPE ¢ 50 BIELER W@
2T & £
IfE|a—F # M B L B % =
EEH|EEH EEH|EEH
BKERIES ¢ 50 m 12.838 12.838
RYEHBLT ¢ 50 (EFIEA) m | 11510 11.510
RUEMFT ¢ 50(EFHES) 20 el 1 1
RUSHFET @ 50(EF§ESE) 10 O 6 6
R)EAD=HIBFEEST ¢ 50 =] 3 3
RUE YT @50 A 3 3
HOFRET $50 TER 2 2
i LR RESRET ¢ 75(d=0.80m) aii 2 2
fUIHRYIREET SREE) >4 H=50mm el 2 2
HOHFRVIREFET £ TEREE H=300mm aiil 2 2
fUIHRYIREET [EEfR H=40mm el 2 2
BEERT—TT W=150 m 11.510 11.510
ERART— W=50 m | 12838 12.838
Ay —FAV T IA Y —FsT m 12.838 12.838




HPPE ¢ 75 ki BMILERG

2TRX

=

o

IfE|a—F Lz S %% B
EEH | EER | ERRM|EER| TR EER|EER|E

;

5t

1 e (0D

vg) [0

ISVVMFEET 75 m] 2
HARERET 75 Liis 1
HKREARYIRFET $53 H=100mm i 1
KRRV REET L+ E3BE H=200mm eadiil 1
HXRARYYREET T #BEE H=300mm i 1
HARRARYIREET [EAR H=40mm eadiil 1




REEE M # R 6) (13)
TR & &
I |a—F # M B * Bifiy % 2 =
R | R | TR | E R | TR EF R TR EER| TR EE
REERRER ¢ 50 m 72.190 72.190
RUEREF-BET 950 (ZF@) m 72.190 72.190
PPt FEHE WET $50 m] 140 140
PPRLAA#F T 50 m] 10 10
EERAH=HILBFT 75 m] 3 3
BERAD=HIMFT $50 m] 1 1
RUEMT 50 m] 66 66
i e ST ¢ 75 = 3 3
BEEYT 50 m] 1 1
WK T VPH ¢50 x50 EFT 1 1
YR DKREAT VPR ¢ 100 % 50 &R 2 2
YRS KEEAT VPH ¢75x50 517 7 7
VPAI7—/\YIHBET ¢ 100 jETzis 1 1
VPAI7Z— N\ BET @75 517 3 3
VPHAI7Z —/\yIHRET 50 3 1 1
F—rVIHET ¢ 50 # 15 15




PP ¢ 20 K& I #EER D

HBKE = it
IfE|a—F # M B L BT £ 2
R | R | TR | E R | TR EF R TR EER| TR EE

HKERTIER 620 m | 133.990 133.990

RUEHHTLT $20 (ZfE) m | 133.990 133.990

PP#F T ¢ 20 m] 38 38

PPRLAA#F T ¢ 13 m] 13 13

RUEMT 20 m] 19 19

PRIV KEEAT HPPEF ¢ 75 x 20 (Efi1%) eadiil 12 12

BEERT—JT W=150 m | 133.990 133.990

i Oy —FAL T T4 —FHETL  [$20 m | 133.990 133.990




T # % F (8)

= E
IfE|a—F # M B L BT % 2 ] =
ERH | E R ERR | E R R TR EF R\ TR ERR|EER|EER

12 &l T + 8 (=R m3 | 233.08 233

+ #BRET ) m3 | 9377 94
BRI BAL m3 | 107.64 108
BRI RAL m3 9.36 9

I BT + BEYIIYY t(=R) m3 | 22372 224

+ TET EEMEIR H=2.00m m 3.35 34

# +BT BESENR 1B m 335 34
(R&E%ET)
FRI7ILNEURL FARABE(—=R) t=5cm m2
FARI7ILRERL FABE(ZR)  t=4cm m2 | 191.25 191

& FRI7ILREREEL FREE(ZR)  t=3cm m2 | 2081 30
VY —hEUEL aVFE(—R)  t=10cm m2 12.03 12

& BRAET RC-40 t=11cm m2 | 221.06 221
XET BEH13Top t=3cm(— %) m2 | 221.06 221

® oV —EET t=10cm m2 | 12,03 12
SHETMT As t=15cmITF (=) m | 634.16 634

T ST Cot=15emEF (—XR) m | 40.10 40
o0 3 & TRE (=R m3 7.40 7 7.40 X 2.35=17.39t
0B E AVE(—R) m3 1.20 1
(REHET)
FAI7IVREUEL FAB(ZR)  t=5cm m2

* FAI7ILRERIEL FAB(ZR)  t=4cm m2 | 161.17 161
FAI7IVREUEL FABE(ZR)  t=3cm m2 | 191.25 191

EL 8 El T T8 CER m3 1.91 2
=BT BZ$i20Top t=5cm(ZR) m2

#® £ET B % 13Top.t=4cm(Z %) m2 | 35242 352
YT Ast=15cmIF (ZR) m 262.29 262

T 0B E TREE (ZR) m3 12.18 12 12.18 X 2.35=28.62t
I T T BV t(ER) m3 1.91 2
XE#RT W=15cm B m

g RE#RT W=30cm B m

I REHT W=45cm B m
XE#RT XF- 55 W=15cmit & m 16.50 17




L

I




DIP NS-E ¢ 100 ¥ o B £

DIP NS-E¢ 100 | DIP NS—E ¢ 100 a8 F
E £ 3.099 0.110 3.209
oo A Tt % BT L 1B8 4R 28R4
DIP (NS-E) B & ¢ 100(#HAZELE) L=5.00m m 1.00 0.850 0.850
DIP(NS-E)Z ] & ¢ 100(#HAZELE) L=5.00m m 1.00 1.000 1.000
DIP(NS-E)E & ¢ 100(#HAZELE) L=5.00m P 5.00
ZZTFE NS-E ¢ 100 X ¢ 1000}k Z %) 7 | 0450 1 1
(1) (1)
MZHEE NS-E $100 X @ T5(4HAEE) 1 1
Hi & NS-E ¢ 100 x 22°1/2(3p A B 5E) 2 2
N-Link NS—E 100 1 1 2
N-Link NS-E 675 1 1
547 NS-E 100 1 1
EREHRFHM NS-E ¢ 100 3 3
vcoaAvk (BB RAAE £ B 44) ¢ 100 1 1
BEERT—T W=150 3.099 0.110 3.209
ERTT—T W=50 3.099 0.110 3.209




HPPE ¢ 100 =
HPPE ¢ 100 a &
a—~K E £ 1.890 1.890

oo A ® % BT L 2515

EFRYIE ¢ 100 L=5.00m m 1.00 1.210 1.210
SHRERAERBTF KX PEF. ¢ 100 7 | 0.680 1 1
PVZaAUk 100 A 1 1
BEERT—T W=150 m 1.890 1.890
ERTT—T W=50 m 1.890 1.890




HPPE ¢ 75 & o B =
HPPE$ 75 | HPPE® 75 | HPPE($ 75 | HPPE ¢ 75 & 5t
a—k E £ 203.708 2,020 16.314 4624 226.666
MM & T % B L 1RRER SERER SRR R 6ER R
EFRHE ¢ 75 L=5.00m m 1.00 17.320 0.430 5.270 23.020
EFZ9E ¢ 75 L=5.00m m 1.00 10.050 0.720 3.100 2.110 15.980
EFAREE ¢ 75 L=5.00m P 5.00 34 1 35
EFE2F—X ¢75% 75 7 | 0.100 3 1 4
0.250 (1) (2) (1) (4)
EFE2F—X ¢ 75X ¢ 50 7 | 0.100 1 1
FREFF—X SUSHITVY(GFRY). ¢75% 975 | 7 0.100 1 1
EFY vk 675 i 2 2 4
EFfZAUK ¢ 75 x 90° & | 0440 1 1 2
EFlZAE ¢ 75x45° 7 | 0380 3 3
EFlZAE $75x%221/2° 7 | 0280 2 2
EFlZAE ¢75x111/4° 7 | 0.260 1 1
EFAZAUK ¢ 75%90° | 0540 2 2
EFAZAVE 9 75%x45° 7 | 0480 1 1
EFFSEAUE $75x%221/2° 7 | 0380 2 1 3
EFFZAUE ¢75x111/4° 7 | 0360 1 1
S ERAERBRTF KXPEF., ¢75 & | 0630 1 1
PVZadTk 675 A 1 1 1 3
Ahig HPPER. ¢75 A 1 1 2
EEEHAHE 75 7
PEELOMYIRS —ILEYIR |9 75 = 0.780 1 1 2
PEAZY IS — )L [$ 75 | 0744 2 1 1 4
fUIFE 'R T 3 2 1 6
TUERARYIR > H=50mm r 2 1 1 4
TUHEARYIR L #3BE H=150mm r 1 1 2
TUHEARYIR fEREE H=300mm r 1 1 2
EOFARYIR T#BEE H=300mm r 1 1 2
TUHEARYIR L+ FEBB# H=300mm r 2 1 1 4
TUHEARYIR JEERR H=40mm r 3 2 1 6
BEERT—7 W=150 m 201.440 2.020 14.790 3.880 222.130
ERART—T W=50 m 203.708 2.020 16.314 4.624 226.666




HPPE ¢ 50 & o B =
HPPE ¢ 50 & &
E K 12.838 12.838
MM & T % B L ARRER

EFRUE ¢ 50 L=5.00m m 1.00 4.590 4590
EFZYE ¢ 50 L=5.00m m 1.00 1.020 1.020
EFAREE ¢ 50 L=5.00m & 5.00 1 1
EFE2F—X 50 % ¢ 50 7 | 0070 1 1

0.180 m ()

(EFAZ2F—X) (p75% ¢50) 0.280 ) )
EFFZEAUE ¢ 50 x90° 7 | 0370 1 1
PVZaqTk ¢ 50 i 1 1
Pl HPPEF. ¢ 50 r 1 1
PER SV I —ILEEIF | 650 H | 0664 2 2
ToHeE LN T 2 2
ARV R > H=50mm r 2 2
EUFARYIR + TEREE H=300mm r 2 2
TOHERARYIR JERR H=40mm T 2 2
BEERT — 7 W=150 m 11.510 11510




HPPE ¢ 75 & M2

#

L

HPPE ¢ 75 &
a—F E_£
oo A Tt % BT 1BR 4R

wWER H=100 FCD #{& ¢75 H 1 1
T AR R E A GRIER) = 1 1
ISV #FH(GFR) 15K 75 4 2 2
HARRE 2 H=100mm r 1 1
HARARYIR L EREE H=200mm i 1 1
HARARYIR TEREE H=300mm r 1 1
HARARYIR JERR H=40mm r 1 1




PP ¢ 50 PP ¢ 50 PP ¢ 50 PP ¢ 50 PP ¢ 50 & F
a—g £ 19.700 12.410 14.400 13.550 12.130 72190
oo A Tt % BT L ] FEffR2 R FEifR4 2R
RYVECEE) ¢ 50(8R &) m 1.00 19.700 12.410 14.400 13.550 12.130 72.190
EITFEGEARTSH1T) [VPA ¢ 50 x50 A 1 1
RIS KIE VPF ¢ 100 % 50 A 2 2
HRILDKIE VPA ¢ 75X 50 A 2 1 2 2 7
P.PoiEKIERYV TV ¢ 50 T 2 2 1 2 9
PPF—X $50%50 Vi 1 1 1 1 1 5
PPIJLK 50 i 11 10 7 7 9 44
PPA IV vb 50 A 6 5 6 6 5 28
EE &R AHiE 675 i 1 1 1 3
EE &R AHiE ¢ 50 i 1 1
YEILFYyTS ¢ 50 oA 2 2 1 2 2 9
735 ¢ 50 v 1 1
i YAV ) ¢ 50 = 3 3 3 3 3 15
TR E INIVIRYYR 125 i 3 2 3 1 9
VPRI7 —/\vo ¢ 100 X 1 1
VPRI7 —/\vo 75 H® 1 1 1 3
VPRI7 —/\vo 50 H® 1 1
HEILS ki VPF ¢ 100 % 40 i 1 1
HEILS ki VPH ¢75x40 i 1 1 1 3
YRILSKEE VPA ¢50%25 i 1 1




PP 20 #KE E # g
#A7k-1 #hk-2 #a7Kk-3 #hKk-4 #a7K-5 #A7K-6 #RK-7 #a/k-8 #a7k-9 #a7k-10 #R7K-11 fak-12 | & &t
a—~K E £ 1.400 46.500 5.680 3.800 6.100 40.700 9.110 3.350 2.250 5.740 1.950 7410 | 133.990

oM OoH A Tt % Bfg| L

RUECEE) ¢ 20(8R &) m 1.00 1.400 46.500 5.680 3.800 6.100 40.700 9.110 3.350 2.250 5.740 1.950 7410 | 133.990
YRI5 KEE HPPEF ¢ 75 x 20 (Ffi#) A 1 1 1 1 1 1 1 1 1 1 1 1 12
sribkERY I vE 20 A 1 1 1 1 1 1 1 1 1 1 1 1 12
PPF—X $20% ¢ 20 A 1 1
P.PI/LR 20 A 1 1 1 1 1 5
A—B—AVGAUF $20x $13x60° A 1 1 1 1 1 2 1 1 1 1 1 1 13
BEERT—T W=150 m 1.400 46.500 5.680 3.800 6.100 40.700 9.110 3.350 2.250 5.740 1.950 7410 | 133.990




DIP(NS-E) ¢ 100

HPPE ¢ 100

i
St

L= 4.00 L= 5.00
BiE | WIR| ER | BS| PYE | BR| ZUE | B E = | GBS I#T 17 BiE | BR| B |HS | FUE |BR| ZUE | & & | FS | AR 1]
(NS-E) | 1 | ¢100| F1 0.850| 1 1000[ 2150/ Z1-1| ~— (HPPE) | 2 | ¢100| EA2 1.210 3.790 —
£ i =] £ & A
(NS-E) T | & 0.850 1.000(  2.150 (HPPE) 1 EN 1.210 3.790




HPPE 75 HPPE @ 50
U E R E X uE R B X
L= 500 m L= 5.00
T | HRIR | ER [([BEE| FUE | BR| ZUE | B & 5 | EERFYIER 1] EiE | BR[| ER S| RFUE | BRE| ZUE | B €& | B |EEUE ]
(HPPE) 3 0.720 Zi-1 (HPPE) | 4 | ¢50 | &1 3.490 1510 —
i 0.770 Z1-2 4 | ¢50 | W2 |  1.100] 4 1020 2880[Z2-1] —
3 | 75| ®1| 0430 1 1420, 0560[Z1-3] ~— 6
i 0.680 Zi-4
i 0.420 Z1-5
1 | 675 2| 2000 1 1670]  1330|Z2-1] - 2
1 | ¢75| @3] 2970 1 1470 0560 Z3-1] - 2
i 0.680 Z41
1 75 | B4 | 3560 0.050 - 3
078 | ¥ 5 0.710 Z4-2
1 | ¢75| W5 4730 0.270 - i
5 | ¢75| M6 | 34702 07001 pg3ofL611 - 2
5 1.690 Z7-1
5 | ¢75| ®7|  1800[ 1 0900] 0610[Z72 3
6 0.720 Z81
1 75 | B8 | 3000 0.670 - 3
078 | ¥ 6 0.610 782
i 2.040 Zo-1
1 75 | B9 | 1.060 1120 - 3
078 | ¥ 6 0.780 292
£ i =] £ & H
(HPPE) 9 | & | 2302 15980  6.000 25 (HPPE) 2 | & 4590 1020 4390




TITEREKEHR

T1547
EE (j:IgE,fE Ty %ﬂggﬁ
—BRSH)

DIP$ 100 |+ T®@ 1.20 3.210
HPPE ¢ 100|+ T (@ 1.20 1.890
HPPE® 75 [+ T 1.55 3.350
HPPE® 75 |+ T@ 1.20 10.100
HPPE® 75 |+ T (B 0.80 212.290
HPPE ¢ 50 [+ T® 1.20 2.250
HPPE ¢ 50 [+ T 0.80 10.520
BEs2VvP ¢ 100| £ T® 1.20 3.000
BEERVP ¢ 75| T T© 1.20 13.000
BEERVP ¢ 50| £ T 0D 1.20 2.000

PP$50 [+T@ 0.34 31.680
#IKPP ¢ 20| £ T® 0.80 23.790
KPP 9 20| £ T® 0.30 20.050
#7KPP ¢ 20[ £ T @ 0.30 90.150

INET 427.280
D

[=N:]

4217.280




TIHERE

X % +ID TI® +I® = () +I6 +I® +I®@
E R H=1.20 H=1.20 H=1.55 H=1.20 H=0.80 H=1.20 H=0.80 INE
L= 3210 L= 1.890| L= 3.350| L= 10.100] L= 212.290 = 2250 L= 10.520
a—F % % HGT | BAHE B S [BEiE & [BEHE = BUHE ¥ E HulsE = . B = (BE B =

Bl T T (=R m3 0.83 2.66 0.83 157 1.53 5.13 0.81 8.18 057 121.01 0.79 1.78 0.55 5.79 146.12
BRI i m3 0.24 0.77 0.24 0.45 0.34 1.14 0.23 2.32 0.23| 4883 0.21 0.47 0.21 2.21 56.19
HRI BAL m3 0.52 1.67 0.52 0.98 1.09 3.65 0.52 5.25 0.28| 59.44 0.52 1.17 0.28 2.95 75.11
BRI AL m3

BIunT + WAV L (=R m3 0.83 2.66 0.83 1.57 1.53 5.13 0.81 8.18 057 121.01 0.79 1.78 0.55 5.79 146.12
(fR%ET)

FAI7ZILVAERIEL | FARE(—R)  t=5cm m2

FAI7ZILREIEL  [FRB(—&R)  t=4cm m2 0.60 1.93 0.60 1.13 0.90 3.02 0.60 6.06 0.60| 127.37 0.60 1.35 0.60 6.31 147.17
FAI7ZILVAERIEL |[FABE(—R)  t=3cm m2

aVO)—bEEEL [V BE(—R)  t=10cm m2

BT RC-30 t=11cm m2 0.60 1.93 0.60 1.13 0.90 3.02 0.60 6.06 0.60| 127.37 0.60 1.35 0.60 6.31 147.17
TERET RC-40 t=10cm m2

ITERET M-30 t=12cm m2

BT B EH13Topt=3cm(—R) m2 0.60 1.93 0.60 1.13 0.90 3.02 0.60 6.06 0.60| 127.37 0.60 1.35 0.60 6.31 147.17
aVH)—hGHET  [t=10cm m2

SHEYIBT Ast=15cml T (—&) m 2.00 6.42 2.00 3.78 2.00 6.70 200/ 20.20 2.00] 42458 2.00 450 2.00] 21.04 487.22
SHETMRT Co t=15cmELF (—%) m

oo & TR (—R) m3 0.02 0.06 0.02 0.04 0.04 0.13 0.02 0.20 0.02 4.25 0.02 0.05 0.02 0.21 4.94
e & VR (—R) m3

BT BEMAR H=2.00m m 1.00 3.35 3.35
T8T BESEXR 1B m 1.00 3.35 3.35




TIHERE

X % TI®EER) TI®GEE) TITOER) TITOUE) T TR TTOEE) TIT@HRER)
E R H=1.20 H=1.20 H=1.20 H=1.20 H=1.20 H=1.20 H=0.34 INE
L= 3.000] L= 3.000] L= 13.000] L= 13.000] L= 2.000| L= 2.000| L= 31.680
a—F % % O BAHE B = (BUBE ¥ = HulE ¥ 2 BulE ¥ = [BONE B S (BAEE B E BABE K =

Bl T T8 (—R m3 0.82 2.46 0.82 2.46 0.81 10.53 0.81 10.53 0.79 1.58 0.80 1.60 0.28 8.87 38.03
BRI i m3 0.24 0.72 0.23 2.99 0.21 0.42 0.21 6.65 10.78
BRI BAL m3 0.76 2.28 0.75 9.75 0.73 1.46 13.49
BRI AL m3 0.52 1.56 0.52 6.76 0.52 1.04 9.36
BIunT + WAV L (=R m3 0.30 0.90 0.82 2.46 0.29 3.77 0.81 10.53 0.27 0.54 0.80 1.60 0.28 8.87 28.67
(fR%ET)

FAI7ZILVAERIEL | FARE(—R)  t=5cm m2

FAI7ZILREIEL  [FRB(—&R)  t=4cm m2 0.60 1.80 0.60 7.80 0.60 1.20 0.60| 19.01 29.81
FAI7ZILREIEL  [FRB(—&)  t=3cm m2 0.60 1.80 0.60 7.80 0.60 1.20 10.80
aVO)—bEEEL [V BE(—R)  t=10cm m2

BT RC-30 t=11cm m2 0.60 1.80 0.60 1.80 0.60 7.80 0.60 7.80 0.60 1.20 0.60 1.20 0.60| 19.01 40.61
TERET RC-40 t=10cm m2

ITERET M-30 t=12cm m2

BT B EH13Topt=3cm(—R) m2 0.60 1.80 0.60 1.80 0.60 7.80 0.60 7.80 0.60 1.20 0.60 1.20 0.60| 19.01 40.61
aVH)—hGHET  [t=10cm m2

SHEYIBT Ast=15cml T (—&) m 2.00 6.00 200 26.00 2.00 4.00 2.00] 63.36 99.36
SHETMRT Co t=15cmELF (—%) m

oo & TR (—R) m3 0.02 0.06 0.02 0.06 0.02 0.26 0.02 0.26 0.02 0.04 0.02 0.04 0.02 0.63 1.35
e & VR (—R) m3

+8BT X H=2.00m m

T8T BESEXR 1B m




TIHERE

X % TITOEEE) +TI® +I® +I®
E R H=0.34 H=0.80 H=0.30 H=0.30 NF
L= 31.680| L= 23.790| L= 20.050| L= 90.150
a—F % % HO | BAHE B = (BOBE X = BUNE ¥ = BulE ¥ 2 |BEulE 8 = BOHE B S |BAEE =

Bl T T8 (—R m3 0.28 8.87 0.53 12.61 0.20 4.01 0.26] 2344 48.93
BRI i m3 0.20 4.76 0.20 4.01 0.20] 18.03 26.80
BRI BAL m3 0.22 6.97 0.28 6.66 0.06 5.41 19.04
BRI AL m3

BIunT + WAV L (=R m3 0.28 8.87 053] 1261 0.20 4.01 0.26| 2344 48.93
(fR%ET)

FAI7ZILVAERIEL | FARE(—R)  t=5cm m2

FAI7ZILREIEL  [FRB(—&R)  t=4cm m2 0.60| 1427 14.27
FAIZ7ILEEUEL  [FREE(—R)  t=3cm m2 0.60 19.01 19.01
a9 —hEURL IR (—R)  t=10cm m2 0.60 12.03 12.03
BT RC-30 t=11cm m2 0.60 19.01 0.60 14.27 33.28
TERET RC-40 t=10cm m2

ITERET M-30 t=12cm m2

=BT BZ4113Top,t=3cm(—R) m2 0.60 19.01 0.60 14.27 33.28
OV —hEET [t=10cm m2 0.60| 12.03 12.03
SHEUMT As t=15cmIAF (—R) m 200 4758 47.58
SHETMRT Cot=15cmELF (—R) m 2.00] 40.10 40.10
e & TR (—R) m3 0.02 0.63 0.02 0.48 1.11
g & AV (—R) m3 0.06 1.20 1.20
+8BT X H=2.00m m

T8T BESEXR 1B m




TIHERE

X &
£ & &
L= L= L= L= L= L= L=
a—F & FR iR B |BEEHE ¥ S (HEuHE 2 |BEuHE 2 |BEHE B HUNE K 5 HUKE B HENE K 8

i #l T T # (—R) m3 233.08
BRI 1 m3 93.77
BRI BAL m3 107.64
BRI AL m3 9.36
BiaosT T BAVT) 1 (—R) m3 223.72
(FHEZET)
FARIZIVREBUEL  [FREE(—R)  t=5cm m2
FARIZIVREBUEL  [FREE(—R)  t=4cm m2 191.25
FARIZIVREBUEL  [FREE(—&R)  t=3cm m2 2981
aVH)—rREL [V BE(—R)  t=10cm m2 12.03
BRiE T RC-30 t=11cm m2 221.06
TIERET RC-40 t=10cm m2
LERET M-30 t=12cm m2
BT BZ4113Top,t=3cm(—R) m2 221.06
aVHY—EET  [t=10cm m2 12.03
ST As t=15cmlAF (—%R) m 634.16
SR T Co t=15cmLAF (—R) m 40.10
e & TR (—R) m3 7.40
JUE:EE - VR (—R) m3 1.20
81 B22MXIR H=2.00m m 3.35
TEBT BEEEXR 1B m 3.35




e % * =2 | £
HE KXKEIRBR I BNETEE
% W O g K & B K B E (B B E
ZDthETE
AEIEEERERKLY _ 2
SR AREINEE 12.39 + 14425 + 26.73  169.05 = 35242 35242 | m
+I® I® IR TI@ I
HEREIEEE 193 + 113 + 302 + 606 + 127.37 +
+tI® I® x£I® £I® I
135 + 631 + 180 + 780 + 120 +
110 £1I0 =191.25 191.25 | m?
1901 + 1427
AEIEEERERKLY _
I T Ast=15ecmEL (=) 18.80 + 14003 + 250  100.96 = 26229 26229 | m
TAB(ZR) |Ast=4ecm 35242 - 191.25 16147 | 16147 |
7277 )LREEL t=4cm ' R
N As t=3om 19125 =19125 | 19125 | m?
" t=3cm
T DHELE = 191 1.91 )
{EHIT TR(ZR)  [191.25 « 0.01 : : m
BEM13Top | AEIHEERERIY _ )
REBET t=4cm(Z) |352.42 = 35242 35242 | m
- 3
MIBE FARB(ZR) |161.17 = 004 +191.25 x 0.03 1218 1218 | m
= 191 1.91 3
IRE TE(Z=®R) | 191 m




= 3 = =
XEHRZE T HNETEE
% HO® g K & ® K o E Hfu B &
XEHR—E
X & #7 XF-iS 16.50 16.50 1650 | m

W=15cmifi &




